
Prüfungsaufgaben Aufgabe 120b 
 

 

 
 



 
3.1 

 
Im Dreieck MCD gilt: 

 
MC = AC/2 = 4 cm/2 = 2 cm 

 
α = ε - 45° 

 
            MC 

cos α = ---- | * CD 
            CD 

 
CD * cos α = MC | :cos α 

 
              MC            2 cm 

CD(ε) = ------ = ---------------- 

            cos α     cos (ε - 45°) 

 

3.2 

 

           π * MC² * BD 
V(ε) = -----------------  

                    3 
 

BD = BM + MD 
 

BM = MC = 2 cm 
 

Im Dreieck MCD gilt: 
 



            MD 
tan α = ---- | *MC 

            MC 
 

MD = MC * tan α = 2 cm * tan (ε - 45°) 
 

           π * 2² cm² * (2 cm + 2 cm * tan (ε - 45°)) 

V(ε) = -------------------------------------------------- 
                                      3 

 
             π * 8 * (1 + * tan (ε - 45°)) 

V(ε) = --------------------------------- cm³ 

                                3 


